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Question 3 of 10

A road perpendicular to a highway leads to a farmhouse located a = 1.4 km away. Slavv
=
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An automobile travels past the farmhouse at a speed of v = 86 km/h. How fast is the distance between the automobile and the

farmhouse increasing when the automobile is 3.2 km past the intersection of the highway and the road?

Let / denote the distance between the automobile and the farmhouse, and let s denote the distance past the intersection of the

highway and the road. co— e .
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(Use decimal notation. Give your answer to three decimal places.)

speed of [ at given s-value: km/h




Question 4 of 10

The base x pf the right triangle\in the figurelincreases at a rate of 6 cm/s, while the height remains constant at # = 18 cm.
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How fast is the angle 6 changing with respect to time ¢ in seconds when x = 27? ( fa,b:ww:k‘m ! \
(Enter an exact answer. Use symbolic notation and fractions where needed.)
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Question 9 of 10

A police car traveling south toward Sioux Falls, lowa, at 160 km/h pursues a truck traveling east away from Sioux Falls at

140 km/h.
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Attime t = 0, the policm 60 km north and the truck is 50 km east of Sioux Falls.

Calculate the rate at which the distance between the vehicles is changing at ¢ = 5 minutes.

(Use decimal notation. Give your answer to three decimal places.)

rate: km/h




Question 10 of 10

A man of height 1.6 meters walks away from a 5-meter lamppost at a speed of 1.1 m/s. Find the rate at which his shadow is

increasing in length.
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(Use decimal notation. Give your answer to three decimal places.)

rate:
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